Homework_10_19_10_20
Solve.  Show your steps and check.  Circle your answer.
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Take a picture and upload (insert) below:  
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Solve the equations. Show your steps and your checks or statements. Circle
your answer. (Hint: There will be 4 questions with one solution and 4 with no solution.):
Check -- Plug your answer into the original equation.

Statement -- There is , because #

1. 14h=40-6h
-25-7n=-12n
-64g = 163 - 649
6j - 32 =-2j

52 - 13x = -13x
10a-14 =10a
-20 + by =9y
-16 + 15d = +15d
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How many terms are in the following expression?:

9. 15c-b+19

What is the coefficient of the 2nd term in the following expression?:

10. 15¢c-b+19




